CSE 5311.004 Fall 2004

Exercise Set Week 8
1. Show the execution of the Longest Common Subsequence algorithm on the following two strings: 
A B C A B D C D B A

B A C D D C A B

2. Given a single sequence of numbers, design an algorithm to find the longest monotonically increasing subsequence. For example, in the sequence 

2 3 1 4 3 7 5 8 

the longest monotonically increasing subsequence is 

2 3    4       5 8

What is the running time of your algorithm?

3. Given two sequences of length m and n each, we studied in class how we can implement LCSS in O(m*n) time using O(min{m, n}) space. Can you design an LCSS algorithm that only uses O(1) space?
4. Given two sequences S1 and S2, design and analyze an algorithm to find the longest common substring between S1 and S2 (a substring is a subsequence which cannot skip intermediate characters, e.g. CABD is a substring of ABCABDCDBA).

